Ratio to CMS

o(pp - b+ X - mu + X" [ub]

7000 GeV pp bb

3.5 - T T T T T T T T | T T T T T T T e
I — <
- Cross section(cms2011-mu-pt6-n2.1) 13
- 18
33— m CMS —3
B Pythia 6.423 default ] N
— e ¥ Pythia 6.423 pro-g20 - 52!
2.5 — 5
- g
L i

2 — —
B 5l
15— ] %
B = 18
(90)
B 1<
B 1.2
1 —%
— -1.%,
B - c
- 1S
— £
— o
0.5 S Roeeemmeeeeemeeeee oot eee e eeeeeeeee e eeeeeeeeee e eeeeeeem il 3
- 15
- 1%
a _l | | | | | | | | | |_ E

= ' | =
2 b —2
1 : :1

0.5 —0.5
| : : | : : |

6999.5 7000 7000.5

sqrt{s} [GeV]



	Contents
	Page 1


